
 

(DBC 37) 

B.Com. DEGREE EXAMINATION, MAY - 2015 

(Examination at the end of Final Year) 

Part – II : Commerce 

Paper – III :  ADVANCED MANAGEMENT ACCOUNTING 

Time : 03 Hours                                Maximum Marks : 80 

                      Section - A                                        (4 × 4 = 16)  

Answer any Four of the following 

1) Define Management Accounting. 

 °ÆæÿÓ-çßý×ý Væü×ýMæü-Ôé-Ýë°̂² °ÆæÿÓ-_…^èþ…yìþ. 

2) What are the functions of Controller? 

 Mæü…{sZ-ËÆæÿ$ Äñý$$MæüP Ñ«§æþ$Ë$ HÑ$-sìý? 

3) Discuss the objectives of budgetary control. 

 º-yðþj-rÈ °Äæý$…{™èþ×ý E§óþª-ÔéË$ ™ðþË-ç³…yìþ. 

4) Distinguish between fixed and variable expenses. 

 íÜ¦Ææÿ, ^èþÆæÿ ÐèþÅÄæý*Ë Ðèþ$«§æþÅ-VæüË ÐèþÅ™éÅ-çÜ-Ðèþ$$. 

5) Profit-Volume Ratio (P.V. Ratio). 

 -Ìê¿æý, ç³Ç-Ðèþ*×ý °çÙµ†¢ (í³.Ñ. °çÙµ-†¢-) 

6) Explain Idle Time Variance. 

 Ðèþ–«§é-M>Ë Ñ è̂þÆæÿ-×ý¯èþ$ ÑÐèþ-Ç…ç³#-Ðèþ$$. 

7) State  the steps in Standard Costing. 

 {´ëÐèþ*-×ìýMæü M>íÜt…VŠü-ÌZ° §æþÔèýË$ ™ðþË-ç³…yìþ. 

8) Break Even Point (BEP). 

 Ìê¿æý-̄ èþçÙt Ææÿíßý™èþ ¼…§æþ$-Ðèþ# 

 



 

                      Section – B (2 × 8 = 16)  

Answer any Two of the following 

9) What are the objectives and types of Management Information System (MIS)? 

 °ÆæÿÓ-çßý×ý çÜÐèþ*-̂ éÆæÿ Ýë«§æþ-̄ èþÐèþ$$ Äñý$$MæüP E§óþª-ÔéË$ Ðèþ$ÇÄæý$$ ÆæÿM>Ë$ HÑ$-sìý? 

10)  For production of 10,000 Electrical Irons the following are budgeted expenses : 

      Per Unit  

      (in Rs.) 

Direct Material  60 

Direct Labour  30 

Variable overheads 25 

Fixed overheads (Rs. 1,50,000) 15 

Variable expenses (Direct) 5 

Selling expenses (10% fixed) 15 

Administration expenses (Rs. 50,000 fixed) 5 

Distribution expenses (20% fixed) 5 

      Total        160    

Prepare a Budget for production of 7,000 and 8,000 units. 

10,000 GË-[Mìüt-MæüÌŒý IÆæÿ-̄ èþÏ̄ èþ$ E™èþµ†¢ ^óþÄæý$-yé-°Mìü ºyðþj-sŒý- ^óþ-íÜ¯èþ QÆæÿ$aË$ ¨Væü$Ðèþ CÐèþÓyæþ… fÇ-W…¨.  

      Äæý$*°sŒý QÆæÿ$a   

      (Ææÿ*||  ËÌZ-)  

{ç³™èþÅ„æü Ððþ$sîý-Ç-Äæý$-ÌŒýÞ  60 

{ç³™èþÅ„æü {ÔèýÐèþ$   30 

^èþÆæÿ- ç³-Æø„æü QÆæÿ$aË$  25 

íÜ¦Ææÿ ç³Æø-„æü QÆæÿ$a-Ë$ (Ææÿ*. 1,50,000) 15 

^èþÆæÿ {ç³™èþÅ„æü QÆæÿ$a-Ë$  5 

AÐèþ$Ã-Mæüç³# QÆæÿ$aË$ (10%  íÜ¦Ææÿ-Ððþ$O-̄ èþ-Ñ-) 15 

ç³Ç-́ ë-Ë¯é QÆæÿ$aË$ (Ææÿ*. 50,000 íÜ¦Ææÿ-Ððþ$O-̄ èþ-Ñ-) 5 

ç³…í³×îý QÆæÿ$aË$ (20%  íÜ¦Ææÿ-Ððþ$O-̄ èþ-Ñ-) 5 

      Ððþ$$™èþ¢… QÆæÿ$a 160 

 7,000 Äæý$*°r$Ï Ðèþ$ÇÄæý$$ 8,000 Äæý$*°r$Ï E™èþµ†¢ ^óþÄæý$-yé-°Mìü M>Ðèþ-Ë-íÜ¯èþ ºyðþj-sŒý¯èþ$ ™èþÄæý*Ææÿ$ ^óþÄæý$…yìþ-. 



 

11)    From the following data, calculate labour variances:-  

 The budgeted labour force : 

   20 unskilled workers @ Rs. 0.75 per hour for 50 hours. 

   10 skilled workers @ Rs. 1.25 per hour for 50 hours 

 The actual labour force : 

   22 unskilled workers @ Rs. 0.80 per hour for 50 hours. 

   8 skilled workers @ Rs. 1.20 per hour for 50 hours. 
 

 {Mìü…¨ ÑÐèþ-Æ>-Ë-̄ èþ$…yìþ {ÔéÑ$Mæü Ñ^èþ-Ææÿ-×ý-Ë¯èþ$ ÌñýMìüP… è̂þ…yìþ :  

 ºyðþjsŒý ^óþíÜ¯èþ {ÔéÑ$Mæü ÑÐèþ-Æ>Ë$ :  

   20 Ðèþ$…¨ ¯ðþOç³#-×ýÅÐèþ$$ Ìôý°-ÐéÆæÿ$ Væü…rMæü$ Ææÿ*. 0.75 {ç³M>-ÆæÿÐèþ$$ 50 Væü…rË$. 

   10 Ðèþ$…¨ ¯ðþOç³#×ýÅ… MæüË-ÐéÆæÿ$ Væü…rMæü$ Ææÿ*. 1.25 {ç³M>-ÆæÿÐèþ$$ 50 Væü…r-Ë$. 

 ÐéçÜ¢-Ðèþ {ÔéÑ$Mæü ÑÐèþ-Æ>Ë$ :   

   22 Ðèþ$…¨ ¯ðþOç³#-×ýÅ… Ìôý°-ÐéÆæÿ$ Væü…rMæü$ Ææÿ*. 0.80 {ç³M>-ÆæÿÐèþ$$ 50 Væü…rË$ 

   8 Ðèþ$…¨ ð̄þOç³#×ýÅ… VæüË-ÐéÆæÿ$ Væü…rMæü$ Ææÿ*. 1.20 {ç³M>-ÆæÿÐèþ$$ 50 Væü…r-Ë$.  

12) From the following Balance Sheet of Mr. A, prepare schedule of changes in Working Capital and 

a funds flow statement : 

 Liabilities 2012 2013 Assets 2012 2013  

    Rs. Rs.  Rs. Rs. 

 Capital 63,000 1,00,000 Cash 15,000 20,000 

 Long term borrowings 50,000 60,000 Debtors 30,000 28,000 

 Trade Creditors 42,000 39,000 Stock in trade 55,000 72,000 

 Bank overdraft 35,000 25,000 Land & Buildings 80,000 1,00,000 

 Outstanding expenses 5,000 6,000 Furniture 15,000 10,000 

    1,95,000 2,30,000  1,95,000 2,30,000  

 



 

 Ñ$çÜt-ÆŠÿ AMæü$ ^ðþ…¨¯èþ ¨Væü$Ðèþ BíÜ¢ Aç³šË ç³sîýt-̄ èþ$…yìþ, °ÆæÿÓ-çßý×ý Ðèþ$*Ë-«§æþ-̄ èþ…ÌZ Ðèþ*Ææÿ$µË$ ™ðþÍ-Äæý$-gôýõÜ °Ðóþ-̈ Mæü Ðèþ$ÇÄæý$$ °«§æþ$Ë 

{ç³Ðéçßý °Ðóþ-̈ Mæü ™èþÄæý*Ææÿ$ ^óþÄæý$…yìþ.   

 Aç³š-Ë$  2012  2013  BçÜ$¢-Ë$  2012 2013  

   Ðèþ*Ææÿ$µË$  Ðèþ*Ææÿ$µË$   Ðèþ*Ææÿ$µË$ Ðèþ*Ææÿ$µË$ 

    (Ææÿ*|| ËÌZ) (Ææÿ*|| ËÌZ)  -(Ææÿ*|| ËÌZ-) -(Ææÿ*|| ËÌZ-) 
 Ðèþ$*Ë-«§æþ-̄ èþ-Ðèþ$$ 63,000 1,00,000 ¯èþVæü-§æþ$ 15,000 20,000 

 ©Ææÿƒ-M>-ÍMæü Aç³š-Ë$ 50,000 60,000 º$$×ý-{Væü-çÜ$¢-Ë$ 30,000 28,000 

 ÐèþÆæÿ¢Mæü º$$×ý§é™èþ-Ë$ 42,000 39,000 ÐèþÆæÿ¢-Mæüç³# çÜÆæÿ$-Mæü$ 55,000 72,000 

 »êÅ…Mæü$ KÐèþÆŠÿ {yé‹œt 35,000 25,000 ¿æý*Ñ$, ¿æýÐèþ-̄ é-Ë$ 80,000 1,00,000 

 ^ðþÍÏ…^èþÐèþË-íÜ¯èþ ÐèþÅÄæý*-Ë$ 5,000 6,000 çœÈ²-̂ èþ-ÆŠÿ 15,000 10,000 

    1,95,000 2,30,000  1,95,000 2,30,000  

                       Section - C (3 × 16 = 48)  

Answer any Three of the following 

13) What is meant by break-even analysis? Discuss the assumptions and the limitations of this 

technique. 

 {»ôýMŠü&DÐðþ¯Œþ ÑÔóýÏ- çÙ×ý A è̄þ-V>-̄ óþÑ$? D ÑÔóýÏ-çÙ-×ýMæü$ E¯èþ² {ç³Ðóþ$-Äæý*Ë$, ç³Ç-Ñ$-™èþ$-Ë¯èþ$ ÑÐèþ-Ç…^èþ…yìþ.  

 

14) Sankeerth Ltd. is considering the purchase of a machine. Two machines X and Y are available in 

the market and each having an initial cost of Rs. 2,50,000. The expected life period is 5 years each. 

Earnings after depreciation but before taxation is estimated to be as follows : 

   Year Machine X (Rs.) Machine Y (Rs.) 

   1 1,50,000 75,000 

   2 1,75,000 2,00,000 

   3 2,25,000 3,50,000 

   4 2,00,000 2,00,000 

   5 1,80,000 1,00,000 

 Assuming 50% tax per annum and a discount rate of 10% which machine should be purchased 

basing on 

a) Average Rate of Return and 

b) Net Present value methods. 
 

Value of Rupee at 10% discount rate is : I year – 0.9091; II year – 0.8264; III year – 0.7513;     IV year – 

0.6830; V year – 0.6209. 



 

 çÜ…MîüÆŠÿ¢ ÍÑ$-sñýyŠþ JMæü Äæý$…{™é°² Mö¯é-Ë° BÌZ-_-çÜ$¢-̄ èþ²¨. JMöP-MæüPsìý Ææÿ*. 2,50,000 ÑË$Ðèþ VæüË X, Y A ó̄þ Æðÿ…yæþ$ 

Äæý$…{™éË$ Ðèþ*ÆðÿPr$Ï ËÀ-çÜ$¢-̄ é²Æÿ$$. A… è̂þ¯é ÐóþíÜ¯èþ Äæý$…{™éË iÑ-™èþ-M>-ËÐèþ$$ 5 çÜ…Ðèþ-™èþÞ-Ææÿ-Ðèþ$$Ë$ (J-MöP-MæüP-§é-°-Mìü) ç³¯èþ$²Mæü$ 

Ðèþ$$…§æþ$, ™èþÆæÿ$-Væü$-§æþË ¡íÜ-Ðóþ-íÜ¯èþ ™èþÆæÿ$-Ðé™èþ BÆæÿj-̄ èþË$ {Mìü…¨ Ñ«§æþ…V> E¯é²-Æÿ$$.  

   çÜ…Ðèþ-™èþÞ-Ææÿ-Ðèþ$$  Äæý$…{™èþ-Ðèþ$$  X (Ææÿ*) Äæý$…{™èþ-Ðèþ$$  Y (Ææÿ*) 

   1 1,50,000 75,000 

   2 1,75,000 2,00,000 

   3 2,25,000 3,50,000 

   4 2,00,000 2,00,000 

   5 1,80,000 1,00,000 

çÜ…çÐèþ-™èþÞ-Æ>-°-Mìü 50% ç³¯èþ$² Æóÿr$, 10% yìþÝûP…sŒý Æóÿr$V> ¿êÑ-çÜ*¢ (a) çÜVæür$ Æ>ºyìþ Æóÿr$ (b) °MæüÆæÿ {ç³çÜ$¢™èþ ÑË$Ðèþ       

ç³§æþ®-™èþ$Ë B«§é-Ææÿ…V> H Äæý$…{™èþÐèþ$$ Mö è̄þ$-VøË$ ^óþÄæý*Í? 10% yìþÝûP…r$- Æóÿr$ Ðèþ§æþª Ææÿ*´ëÆÿ$$ ÑË$Ðèþ 1Ðèþ çÜ…|| & 

0.9091;    2Ðèþ çÜ…|| & 0.8264; 3Ðèþ çÜ…|| & 0.7513;  4Ðèþ çÜ…|| & 0.6830; 5Ðèþ çÜ…|| & 0.6209.  
 

15)  From the following figures prepare Raw Materials Purchase Budget for January 2014. 

      Materials (in units) 

    A B C D E F 

 Estimated Stock 

 on 1
st
 January 16,000 6,000 24,000 2,000 14,000 28,000 

 Estimated Stock 

 on 31
st
 January 20,000 8,000 28,000 4,000 16,000 32,000 

 Estimated  

 consumption  1,20,000 44,000 1,32,000 36,000 88,000 1,72,000 

 Standard Price 

 per unit Rs.1.25p 0.25p 0.75p 0.50p Rs.1.00 Rs.1.50p  

 

  D {Mìü…¨ C_a è̄þ ÑÐèþ-Æ>-Ë-̄ èþ$…yìþ 2014 f¯èþ-ÐèþÇ ¯ðþËMæü$ Ðèþ$$yìþ çÜÆæÿ$Mæü$ Mö¯èþ$-VøË$ ºyðþjsŒý ™èþÄæý*Ææÿ$ ^óþÄæý$…yìþ. 

     Ðèþ$$yìþ ç³§é-Æ>¦Ë$ (Äæý$*-°-rÏ-ÌZ) 
     A B C D E F 

 f¯èþ-ÐèþÇ 1¯èþ A… è̂þ-̄ é  
 ÐóþíÜ¯èþ çÜÆæÿ$-Mæü$ 16,000 6,000 24,000 2,000 14,000 28,000   
 f¯èþ-ÐèþÇ 31¯èþ A… è̂þ-̄ é 
 ÐóþíÜ¯èþ çÜÆæÿ$Mæü$ 20,000 8,000 28,000 4,000 16,000 32,000 
 A… è̂þ-̄ é-Ðóþ-íÜ-̄ èþ   
 Ñ°-Äñý*-Væü-Ðèþ$$ 1,20,000 44,000 1,32,000 36,000 88,000 1,72,000  
 Äæý$*°-sŒýMæü$ {´ëÐèþ*-×ìýMæü 
 «§æþÆæÿ  Ææÿ*. 1.25ò³O 0.25ò³O 0.75ò³O 0.50ò³O Ææÿ*.1.00 Ææÿ*.1.50ò³O  



 

 

16)    The following information is related to Kakatiya Cements Ltd. 

      Rs. Rs. 

 Sales (10,000 tonnes)  5,00,000 

 Variable costs : Material 1,00,000 

     Labour 50,000 

     Direct Expenses 10,000 1,60,000 

 Fixed cost    3,00,000 

 Profit     40,000 

 

 You are required to find out  

a) Break even point. 

b) P.V. Ratio. 

c) Margin of safety. 

d) Sales required to earn a profit of Rs. 50,000 

e) Profit at a sales level of Rs. 9,00,000. 

 M>Mæü-¡Äæý$ íÜÐðþ$…sŒýÞ ÍÑ$-sñýyŠþ ÐéÇMìü çÜ…º…«̈ …_¯èþ ÑÐèþ-Ææÿ-Ðèþ$$Ë$ D {Mìü…¨ Ñ«§æþ…V> E¯é²-Æÿ$$. 

      Ææÿ*||Ë$  Ææÿ*||Ë$ 
 AÐèþ$Ã-M>Ë$ (10,000 r¯èþ$²-Ë$-)  5,00,000 

 ^èþÆæÿ ÐèþÅÄæý*-Ë$ :  Ðèþ$$yìþ ç³§é-Æ>¦-Ë$ 1,00,000 

     Ðóþ™èþ-̄ é-Ë$ 50,000 

     {ç³™èþÅ„æü QÆæÿ$a-Ë$ 10,000 1,60,000 

 íÜ¦Ææÿ ÐèþÅÄæý*-Ë$    3,00,000 

 Ìê¿æý-Ðèþ$$    40,000 

 D {Mìü…¨ Ðésìý° Mæü¯èþ$-MøP…yìþ :    

a) Ìê¿æý-̄ èþçÙt Ææÿíßý™èþ ¼…§æþ$-Ðèþ#.  

b) í³.Ñ. °çÙµ-†¢ 

c) Ææÿ„æü×ý AÐèþ«̈  

d) Ææÿ*. 50,000 Ìê¿æýÐèþ$$ BÇj…^èþ-yé-°Mìü fÆæÿ$ç³ÐèþË-íÜ¯èþ AÐèþ$Ã-M>Ë$ 

e) AÐèþ$Ã-M>Ë$ Ææÿ*. 9,00,000 AÆÿ$$-̄ èþ-ç³#yæþ$ Ìê¿æý-Ðèþ$$. 

 



 

17)    From the following information you are required to estimate the net working capital : 

    Cost per unit 

    Rs. 

 Raw materials 400 

 Direct labour 150 

 Overheads (excluding depreciation) 300 

    Total cost 850  

 
 

 Additional Information : 

 Selling Price Rs. 1,000 per unit 

 Output 52,000 units per annum 

 Raw material in stock average 4 weeks 

 Work-in-progress average 2 weeks 

 (assume 50% completion stage with full material consumption). 

 Finished goods in stock average 4 weeks 

 Credit allowed by suppliers average 4 weeks 

 Credit allowed to debtors average 8 weeks 

 Cash at bank expected to be  Rs. 50,000 

   Assume that production is sustained at an even pace during the 52 weeks of the year. All 

sales are on credit basis. State any other assumption that you might have made while computing. 

 

 {Mìü…¨ çÜÐèþ*-̂ é-Ææÿ-Ðèþ$$-̄ èþ$…yìþ °MæüÆæÿ °ÆæÿÓ-çßý×ý Ðèþ$*Ë-«§æþ¯èþ AÐèþ-çÜ-Æ>-Ë¯èþ$ ÌñýMìüP… è̂þ…yìþ. 

    -Äæý$*-°sŒý ÐèþÅÄæý$-Ðèþ$$ 
     Ææÿ*||ËÌZ  
 Ðèþ$$yìþ çÜÆæÿ$-Mæü$ 400 

 {ç³™èþÅ„æü Ðóþ™èþ-̄ é-Ë$ 150 

 KÐèþÆŠÿ òßýyŠþÞ (™èþ-Ææÿ$-Væü$-§æþË M>Mæü$…yé-) 300 

   Ððþ$$™èþ¢Ðèþ$$ ÐèþÅÄæý$-Ðèþ$$ 850   

  Total cost 850  

 A§æþ-̄ èþç³# çÜÐèþ*-̂ é-Ææÿ-Ðèþ$$ : 

 AÐèþ$Ã-Mæüç³# «§æþÆæÿ -Äæý$*-°-sŒýMæü* Ææÿ*. 1,000 

 E™èþµ-†¢  çÜ…||°Mìü 52,000 Äæý$*°r$Ï 

 °ËÓÌZ E è̄þ² Ðèþ$$yìþ çÜÆæÿ$-Mæü$ -çÜ-Væü-r$¯èþ 4 ÐéÆ>-Ë$ 



 

 ™èþÄæý*-ÈÌZ E¯èþ² çÜÆæÿ$Mæü$  

 (ç³NÇ¢ Ððþ$sîý-Ç-Äæý$ÌŒý Ñ°-Äñý*-Væü…™ø 50% ç³NÇ¢ AÆÿ$$¯èþ íÜ¦†-) çÜVæü-r$¯èþ 2 ÐéÆ>-Ë$ 

 °ËÓÌZ ™èþÄæý*-ÆðÿŌ èþ çÜÆæÿ$-Mæü$ -çÜ-Væü-r$¯èþ 4 ÐéÆ>Ë$ 

 º$$×ý §é™èþË$ C ó̂þa {Mðüyìþ-sŒý -çÜ-Væü-r$¯èþ 4 ÐéÆ>Ë$ 

 º$$×ý {VæüçÜ$¢ËMìü^óþa {Mðüyìþ-sŒý -çÜ-Væü-r$¯èþ 8 ÐéÆ>Ë$ 

 E…yæþ-Ðèþ-Ë-íÜ¯èþ A…^èþ¯é »êÅ…Mæü$ °ËÓ Ææÿ*. 50,000 

 çÜ…Ðèþ-™èþÞ-Ææÿ-Ðèþ$$ÌZ E è̄þ² 52 ÐéÆ>Ë M>Ë…ÌZ E™èþµ†¢ çÜÐèþ*-̄ èþ…V> E…¨. A°² AÐèþ$Ã-M>Ë$ AÆæÿ$-Ðèþ#-ò³Ō óþ. °ÆæÿÓ-çßý×ý Ðèþ$*Ë-«§æþ-̄ é°² 

A… è̂þ¯é ÐóþçÜ$¢-̄ èþ²-ç³#yæþ$ Ò$ {ç³Ðóþ$-Äæý*-Ë¯èþ$ çÜµïÙt-Mæü-Ç…^èþ…yìþ.  

18)   From the following data calculate various material variances : 

                 Standard                 Actual  

  Materials Quantity (units) Price per  Quantity (units) Price per  

     Unit (Rs.)  unit (Rs.) 

  A  80 8.00 90 7.50 

 B  70 3.00 80 4.00 

    150  170 
  

 ¨Væü$Ðèþ ÑÐèþ-Æ>Ë B«§é-Ææÿ…V> ÑÑ«§æþ Ððþ$sîý-Ç-Äæý$ÌŒý Ñ^èþ-Ææÿ-×ý-Ë¯èþ$ Mæü¯èþ$-MøP…yìþ. 

                 {´ëÐèþ*-×ìý-Mæü                  ÐéçÜ¢-Ñ-Mæü   

  Ððþ$sîý-Ç-Äæý$-ÌŒý  ç³Ç-Ðèþ*-×ý…  Äæý$*°sŒý «§æþÆæÿ  ç³Ç-Ðèþ*-×ý-Ðèþ$$  Äæý$*°sŒý «§æþÆæÿ  
   (Äæý$*-°-rÏ-ÌZ-) -(Ææÿ* ËÌZ-) -(-Äæý$*-°-rÏ-ÌZ-) -(Ææÿ* ËÌZ-)    

  A  80 8.00 90 7.50 
 B  70 3.00  80 4.00 
    150   170    

 

 


